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QUESTION 1

Click the Exhibit button.

[edit protocols ospf area 0.0.0.0]
userfsrx$ show
interface ge-0/0/4.0 {

passive;

}

interface ge-0/0/5.0 (
passive;

}

interface ge-0/0/6.0 ({
passive;

}

interface st0.0 {
interface-type pZ2mp;

You have configured an ADVPN that is operational. However, OSPF will not establish correctly across the ADVPN
tunnels.

Referring to the exhibit, which two commands will solve the problem? (Choose two.)
A. [edit protocols ospf area 0.0.0.0] user@srx# set interface st0.0 dynamic-neighbors
B. [edit protocols ospf area 0.0.0.0] user@srx# set interface st0.0 topology advpn

C. [edit protocols ospf area 0.0.0.0] user@srx# set interface st0.0 interface-type nbma
D. [edit protocols ospf area 0.0.0.0] user@srx# set interface st0.0 demand-circuit
Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-auto-discoveryvpns.html

QUESTION 2

Click the Exhibit button.
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Branch 1 and Branch 2 have an active VPN tunnel configured, but internal hosts cannot communicate with each other.
Referring to the exhibit, which type of configuration should be applied to solve the problem?

A. Configure destination NAT on both Branch 1 and Branch 2

B. Configure source NAT on Branch 1

C. Configure destination NAT on Branch 2 only

D. Configure static NAT on both Branch 1 and Branch 2

Correct Answer: D

QUESTION 3

Click the Exhibit button.

user@srx> show security flow session
Session ID: 11232, Policy name: Allow-ipv6-Telnet/11l, Timeout: 1788, valid
In: 2001:db8::1/57707 --> 2001:db8::8/23;tcp, Conn Tag: 0x0, If: vlan.101,
Pkts: 9, Bytes: 799,
Out: 10.8.8.8/23 -—> 10.7.7.5/21868;tcp, Conn Tag: 0x0, If: ge-0/0/2.0,
Pkts: B, Bytes: 589,
Total sessions: 1

Which type of NAT is shown in the exhibit?
A. NAT46

B. NAT64
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C. persistent NAT
D. DS-Lite

Correct Answer: B

QUESTION 4
Click the Exhibit button.
userfdsrx> show security macsec conrnectlons

Interface name: ge—-0/0/C
CA name: cal

Cipher suite: GCM-AES-128 Encryption: on
Key server offset: 0 Include SCI: no
Replay protect: off Replay window: 0

Outbound secure channels
sC Id: 02:00:00:01:01:04/1
Outgoing packet number: 1
Secure associations
AN: 3 Status: inuse Create
Inbound secure channels
SC Id: 02:00:00:02:01:04/1
Secure assocliations
AN: 3 Status: inuse Create

Referring to the exhibit, which two statements are true? (Choose two.)
A. Data is transmitted across the link in plaintext

B. The link is not protected against man-in-the-middle attacks

C. The link is protected against man-in-the-middle attacks

D. Data is transmitted across the link in cyphertext

Correct Answer: BD

QUESTION 5

00:01:43

00:01:43

You have designed the firewall filter shown in the exhibit to limit SSH control traffic to yours SRX Series

device without affecting other traffic.
Which two statement are true in this scenario? (Choose two.)

A. The filter should be applied as an output filter on the loopback interface.
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B. Applying the filter will achieve the desired result.

C. Applying the filter will not achieve the desired result.

D. The filter should be applied as an input filter on the loopback interface.
Correct Answer: CD

Reference: https://www.juniper.net/documentation//en_US/junos/topics/concept/firewall-filter-ex-series-
evaluationunderstanding.html
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